Решение КВУР с помощью теоремы Виета и частных случаев.

	
	1
	2
	3


	4

	1
	х2 - 9х + 20 = 0
	2х2 - 3х + 1 = 0
	х2 - х + 0,25 = 0
	х2 + 2х - 80 = 0

	2
	2х2 + 3х + 1 = 0
	х2 - 3х - 28 = 0
	2х2 + 7х - 9 = 0
	х2 + 5х - 14 = 0

	3
	3х2 + 8х + 5 = 0
	х2 - 19х + 88 = 0
	2х2 +7х + 5 = 0
	8 m2 - 3m - 11 = 0

	4
	х2 + 4х - 32 = 0
	12х2 + 17х + 5 = 0
	х2 - 25х + 100 = 0
	- 5х2 + 8х - 3 = 0

	5
	х2 + 4х - 5 = 0
	- 36у2 + 12у - 1 = 0
	- 3х2 + 7х - 4 = 0
	7х2 + 13х + 6 = 0

	6
	х2 + 2х - 35 = 0
	х2 + 4х - 45 = 0
	25р2 – 10р + 1 = 0
	9у2 – 6у + 1 = 0

	7
	х2 - 4х + 4 = 0
	5х2 + 9х + 4 = 0
	х2 - 6х - 16 = 0
	х2 - 8х - 84 = 0

	8
	 3х2 - 7х + 4 = 0
	3х2 - 11х + 8 = 0
	х2 + 16х + 63 = 0
	х2 - 2х - 35 = 0

	9
	х2 + х - 56 = 0
	х2 + 2х - 48 = 0
	х2 - 15х + 56 = 0
	2х2 - 9х + 7 = 0

	10
	3х2 + 13х +10 = 0
	5х2 + 16х + 11 = 0
	х2 + 13х - 48 = 0
	7х2 + 20х + 13 = 0

	11
	 - х2 + 6х - 9 = 0
	х2 + 12х + 36 = 0
	23х2 - 22х - 1 = 0
	9х2 + 6х + 1 = 0

	
	
	
	
	


	
	5
	6
	7

	8

	1
	5х2 - 26х - 31 = 0
	х2 - 10х + 24 = 0
	4х2 - 12х + 9 = 0
	х2 + 10х + 16 = 0

	2
	3х2 - 5х + 2 = 0
	3t2 - 22t - 25 = 0
	18х2 - 7х - 11 = 0
	6х2 + 11х + 5 = 0

	3
	2у2 + 9у - 11 = 0
	5х2 + 12х + 7 = 0
	х2 - 5х + 6 = 0
	25х2 - 40х + 16 = 0

	4
	х2 - 8х + 12 = 0
	р2 + р - 90 = 0
	х2 - 5х - 66 = 0
	х2 - 17х - 270 = 0

	5
	у2 – 12у + 32 = 0
	х2 + 50х - 600 = 0
	1 + 4х + 4х2 = 0
	х2 - 8х + 15 = 0

	6
	4х2 + х - 3 = 0
	5х2 + х - 6 = 0
	3х2 + 10х + 7 = 0
	0,7х2 – 0,9х + 0,2 = 0

	7
	4 + 4х + х2 = 0
	х2 + х - 2 = 0
	х2 + х - 6 = 0
	9у2 – 30у +25 = 0

	8
	0,2х2 – 0,7х + 0,5=0
	х2 + 6х - 55 = 0
	х2 + 17х + 72 = 0
	204х2 - 203х - 1 = 0

	9
	х2 + 5х - 14 = 0
	36х2 - 12х +1  = 0
	5у2 – 6у + 1 = 0
	2х2 - х - 3 = 0

	10
	х2 + 10х - 600 = 0
	8х2 + 13х + 5 = 0
	х2 - 1998х +1997 = 0
	х2 + 10х - 39 = 0

	11
	1–18р + 81р2 = 0
	16х2 - 8х + 1 = 0
	5х2 - 6х - 11 = 0
	15а2 + 22а - 37 = 0

	
	
	
	
	


